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The first aperiodic sequence was found by Since in a Fibonacci sequence the number of adult pairs to the young
Leonardo Fibonacci (c. 1170 - c. 1240-50). pairs is approaching the golden ratio t (= 1.618...), the sequence is

He described the growth of a population of suitable for modelling quasicrystals with tenfold rotational symmetrie.
rabbit couples under idealized conditions: But for this, a successively generating rule is needed. If the old and

A newborn couple is sexually mature after young pairs assigned lengths L, and S, that are in the golden ratio t
one month and then gives birth to another to each other, an average length L,,.; can be calculated.

couple every month. With this average length, it is possible to construct quasicells Q that

May the rabbits be given eternal life. successively control the correct growth of the Fibonacci sequence.
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